Inductive Proof of a Saddle Point Theorem*

Wang Jianhua (王建华)

(Tsinghua University, Beijing)

Abstract. Many proofs have been published for the minimax theorem, and all the published inductive proofs have been indirect ones. It has been pointed out that a direct inductive proof is needed, especially for instructional purposes, since indirect proofs are more or less implicit in nature. Such a direct proof is given in [4]: Now the minimax theorem can be stated equivalently in terms of saddle point. And it is the object of the present paper to give a direct inductive proof for the saddle point version of this theorem.

In this paper, we present a direct inductive proof for the saddle point theorem of zero sum two person games with mixed strategies.

Theorem. Let $A = (a_{ij})$ be an arbitrary $m \times n$ matrix. Let S_m and S_n be respectively set of points $x = (x_1, \dots, x_m)$ and $y = (y_1, \dots, y_n)$ with

$$x_i \ge 0$$
, $i = 1, \dots, m$, $\sum_{i=1}^{m} x_i = 1$, $y_i \ge 0$, $j = 1, \dots, n$, $\sum_{i=1}^{n} y_i = 1$.

Then there exist $x^* = (x_1^*, \dots, x_m^*) \in S_m$ and $y^* = (y_1^*, \dots, y_n^*) \in S_n$ such that

$$xAy^{*i} \leq x^*Ay^{*i} \leq x^*Ay^i$$

for all $x \in S_m$ and all $y \in S_n$;

Proof. It is obvious that the theorem is true for m=n=1. Assume that the theorem holds for all (m' < m, n), let us prove that it is true for (m,n). (In a similar manner it can be shown that if the theorem holds for all (m, n' < n), then it is true for (m,n).)

Suppose that

$$\min_{y \in S_n} \max_{1 \le i \le m} \sum_{j=1}^n a_{ij} y_j = \max_{1 \le i \le m} \sum_{j=1}^n a_{ij} y_j^* = v_*$$
 (1)

Then

$$A_{i,y}^{*i} = \sum_{j=1}^{n} a_{ij} y_{j}^{*} \leq v, \quad i = 1, \dots, m_{\bullet}$$
 (2)

Received Jan, 30, 1982.

If equality holds in (2) for all $i=1,\dots,m$, as well as in an analogous greater-than-or-equal formula corresponding to the max min operation for all $j=1,\dots,n$, the validity of the theorem is easily proved. Thus we may assume without loss of generality that

$$A_{ii}y^{*i} = \sum_{j=1}^{n} a_{ij}y_{j}^{*} = v, \quad i = 1, \dots, m',$$
(3)

$$A_{i,}y^{*i} = \sum_{j=1}^{n} a_{ij}y^{*}_{i} < v, \quad i = m'+1, \dots, m,$$
 (4)

where m' < m,

Now consider the reduced matrix game (m',n). By the inductive hypothesis, there exist $x' = (x_1^*, \dots, x_{m'}^*) \in S_m$ and $y' \in S_n$ such that

$$xAy'' \leqslant x'Ay'' \leqslant x'Ay' \tag{5}$$

for all $x \in S_{m'}$ and all $y \in S_{n}$. (Here A is the reduced $m' \times n$ matrix.) In other words, (x', y') is a saddle point of the game (m', n). It follows that

$$\max_{x \in S_{m'}} x_A y'^{t} = x'_A y'^{t} = \min_{y \in S_{m}} x'_A y^{t},$$

OI

$$\max_{1 \le i \le m'} A_{ii} y'^{i} = x' A y'^{i} = \min_{1 \le i \le m} x' A_{ii}.$$
 (6)

Our next task is to show that $x'Ay'^{\dagger} \gg v$. For this purpose, let

$$y'' = \alpha y' + (1 - \alpha)y^* \in S_n, \quad 0 < \alpha < 1. \tag{7}$$

Then

$$A_{i \bullet} y''^{i} = \alpha A_{i \bullet} y'^{i} + (1 - \alpha) A_{i \bullet} y^{*i}, \quad i = 1, \dots, m'$$
 (8)

Taking max on both sides of (8) and utilizing (6) and (3), we obtain $1 \le i \le m'$

$$\max_{1 \le i \le m'} A_{i,} y^{n} \le \alpha \max_{1 \le i \le m'} A_{i,} y^{i} + (1 - \alpha) \max_{1 \le i \le m'} A_{i,} y^{*i} = \alpha x' A y'^{i} + (1 - \alpha) v_{\bullet}$$
(9)

Now for the y'' in (7) we have by (4) and the continuity of the functions involved that

$$A_i y''^i < v, \qquad i = m' + 1, \dots, m$$
 (10)

if a is sufficiently small. But

$$\max_{1 \leq i \leq m} A_{i,} y^{i't} \geqslant \min_{y \in S_n} \max_{1 \leq i \leq m} A_{i,} y^t = v$$
 (11)

by (1); It follows from (10) and (11) that

$$\max_{1 \le i \le m'} A_{i,y}^{mi} \geqslant v_{\bullet} \tag{12}$$

Hence (9) implies $v \le ax'Ay'' + (1-a)v$, or $ax'Ay'' \ge v - (1-a)v = av$, or

$$x'Ay'^{t} \geqslant v, \tag{13}$$

as is to be proved.

Finally, consider the point $x^* = (x_1^*, \dots, x_m^*, 0, \dots, 0)$ of S_m . We are going to show that the strategy pair (x^*, y^*) is a saddle point of the game (m, n).

We have, by (3) and (4).

$$x^*Ay^{*t} = \sum_{i=1}^m x_i^*A_i y^{*t} = v,$$
 (14)

where $x_i^* = 0$, $i = m' + 1, \dots, m_{\bullet}$

For all
$$x \in S_m$$
 we have $xAy^{**} = \sum_{i=1}^m x_i A_i y^{**} \le v$ by (2). Hence $xAy^{**} \le x^*Ay^{**}$ (15)

for all $x \in S_{m_0}$ And for all $y \in S_n$ we have

$$x^*Ay^t = \sum_{i=1}^n x^*A_{i}y_i = \sum_{j=1}^n x'A_{j}y_j = x'Ay^t \ge x'Ay'^t \ge v$$

by (5) and (13). (It is to be noted that in the extreme left hand side the dimensionality of the matrix A is $m \times n$, while the last two A's are $m' \times n$ matrices.) Hence

$$x^*Ay^{*i} \leqslant x^*Ay^i \tag{16}$$

for all $y \in S_n$.

(15) and (16) show that (x^*, y^*) is a saddle point of the matrix game (m, n) and the proof of the theorem is completed.

References

- [1] Loomis, L. H., On a Theorem of von Neumann, Proc. Nat. Acad. Sci., USA, 32 (1946), pp. 213-215.
- [2] Von Neumann, J., and O. Morgenstein, Theory of Games and Economic Behavior, 3rd ed., Princeton University Press, Princeton, N. J. (1953), pp. 128-155.
- [3] Owen, G., An elementary proof of the minimax theorem, Management Sci., 13 (1967), p. 765.
- [4] Wang, Jianhua, An inductive proof of von Neumann's minimax theorem, Chinese Journal of Operations Research (运筹学杂志), Vol. 1, No. 1 (1982).
- [5] Zięba, A., An elementary proof of von Neumann's minimax theorem, Colloquium Mathematicum, 4 (1957), pp. 224-226.